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QUESTION 1

Which administration tool can you use to start and stop the SAP HANA database system?
A. DBA Cockpit

B. SAP Solution Manager

C. SAP Landscape Management

D. SAP HANA HDBSQL

Correct Answer: C

QUESTION 2

How are save points triggered? There are 2 correct answers to this question
A. By a database soft shutdown.

B. By issuing a transactional commit.

C. By performing a delta merge.

D. By performing a database backup.

Correct Answer: AD

QUESTION 3

Which R3load mode is used during an inplace SUM database migration option procedure?
A. Socket

B. File

C. Network

D. Pipe

Correct Answer: D

QUESTION 4

When can you load and unload individual tables and table columns manually in an SAP HANA tenant database? There
are 2 correct answers to this question.

A. When you need to extend the scale-out memory
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B. When you need to optimize the standby node memory.
C. When you need to measure total memory
D. When you need to actively free up memory.

Correct Answer: CD

QUESTION 5

How many tiers do you usually find in an SAP HANA application? There are 2 correct answers to this question.
Response:

Al
B.2
C.3
D.4

Correct Answer: BC
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